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HORIZONTAL                
A.
1000  +  (- 615)

B.
500  + 432  − (-68)  +  (-271)  
C.
(-300) +  800 −  (-500)  + (-362) 
D.
24  +  −  √ 9     +  (-2)

E.
24  ∕ 2 +   - ³√27     +   45 ∕ 9 +  (-3,09)  +  19,75 − 0,66

F.
456 −  22,50   +  348,50  + 10²  +  495∕  3  +  (-342)
G.
(98,8  - − 16∕  4   + 11,2)  + 123 -  3 ²
H.
(5²  + 400  +  − 25)  −  55
P.
97 −  25  −  (4² +   11)
 VERTICAL

I.
25² -  100  +  (-25) + 369

J.
- (38) º  + (5 ² +  √ 81)  + (- 7)² +  49  +20
k.
800∕  2   -  (200,88 + -  1,88)
L.
(10² +  5³ +141) +  - 313

F.
583-  {379,343 +125  - (-0,654)}
N.
20²  +   789/ 3 -  √100    +  (155- − 22)
S.
(192 + 300 - − 185)  + - 464 

M.
(√ 16 – 2)                                              Lic.  Nelly F, Calderón Sanchez
Resuelve este crucinúmero








